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SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
CIOIEe & 2 2t 3,394,145 3,357,145 37,000
< 2,764,145 2,727,145 37,000
£ 630,000 630,000 0
OOolIeH sS4 sE28 3,340,977 3,303,977 37,000
S 2,710,977 2,673,977 37,000
= 630,000 630,000 0
ClolEoIgr FMBAFXH & SAHUZL 25 3,340,977 3,303,977 37,000
£ 2,710,977 2,673,977 37,000
g2 630,000 630,000 0
SICIOIH &8 43t 1,929,000 1,907,000 22,000
= 1,299,000 1,277,000 22,000
g2 630,000 630,000 0
207 A RO 562,000 540,000 22,000
01 A3 39 22,000 0 22,000
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& 22,000 0 22,000
SAXE &2t L e 27,240 12,240 15,000
201 Let2dE] 27,240 12,240 15,000
01 AP 22l 27,240 12,240 15,000
OsgsSiHdE s &2 27,240 12,240 15,000




